
( 1 ) T(6th Sm.)-Economics-G/(DSE-B-1)/CBCS

2021

ECONOMICS — GENERAL
Paper : DSE-B-1

(Public Finance)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.



(Public Finance) 

(Merit Goods) 

(Pareto Efficiency) 

(Economic Externalities) 

(Tied Grant) 

(Leakage) 

(Stabilisation Policy) 

(Fiscal Policy) 

MODVAT 

GST

(Fiscal Federalism) 
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(Club Goods) 

(Mixed Goods) 

GST 

(Deficit Financing) 

[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Answer any ten questions : 2×10

(a) What do you mean by Public Finance?

(b) What is merit goods?
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(c) Define Pareto Efficiency.

(d) Give one example each of positive and negative economic externalities.

(e) What do you mean by ‘tied grant’?

(f) What do you mean by ‘leakage’ in government grants?

(g) What are the instruments of ‘stabilisation policy’?

(h) Write down the main two functions of fiscal policy.

(i) What is Government Budget?

(j) Write down the possible ways of correcting deficit budget.

(k) What is MODVAT?

(l) Mention two defects of GST.

(m) Write down the names of four indirect taxes of India.

(n) What is Fiscal Federalism?

(o) Write down the names of four taxes of India in the State List.

Group - B

Answer any three questions.

2. What do you mean by ‘club goods’? What are the features of club goods? 2+3

3. Distinguish between public good and private good. 5

4. What do you mean by matching and non-matching grant? Show that social goods will be supplied at a
lower cost with the matching grant than with the non-matching grant. 2+3

5. Define non-tax revenue resources. What are the major non-tax revenue resources in India? 1+4

6. What do you mean by fiscal policy? What are the main objectives of fiscal policy in India? 1+4

Group - C

Answer any three questions.

7. (a) Why is public sector required in an economy?

(b) What is a ‘mixed goods’? ‘Mixed goods generate external benefits or costs and call for correction
by subsidies or taxes’– Explain this arguement and prove. 4+1+5

8. What are the differences between indirect tax and direct tax? Do you think that an indirect tax
necessarily imposes an excess burden as compared to a direct tax? Give reasons for your answer.

4+6
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9. (a) Define public goods. What are the basic reasons of market failure in the provision of public goods?

(b) How is efficient provision of public goods determined in a world consisting of one public good and
one private good? 1+4+5

10. Discuss the features of recent tax structure of India. Do you think that GST is a better option for India
in lieu of the existing indirect tax structure? 6+4

11. What is deficit financing? Discuss the arguments for and against deficit financing in India. 2+8


